Math 222-006 (Prof. Young)
NAME: Solution

Math 222 Quiz Feb 29, Spring 2016
Show all your work. No calculator.

Problem 1: Use the method of undetermined coefficients to find the form (do not compute
the coefficients) of a particular solution for the given equation
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Problem 2: Given that y;(t) = ¢! is a solution of 2t?y” + 3ty’ —y = 0, t > 0. Use the
nlethod of reduction of order to find the other linearly 1ndependent fundamental solution ys.
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Problem 3: Find the general solution of the given equation
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